098 162 (8) 092 172 (&) 098 192(2) 098 202(3)
REEERT FE=ERED
SR e SBE(15)
(1.2.5.6.9.10.13.15.16) S2IDEAAM(2.5.6.13)
s - _ - XEZ2(1.2.5.6) SATH 2 (5.6.12.13)
suss ey FHER =4 ESBER(5.6) anane
CERSIE(13) 2<I1(9)
RIESIIE)
2 E=RaN] E=RaN] 1 AX[4B1:07 F=RaN
HDN(EF)/OHSE 2N (BR)/LR UM AN (B2)/LT 2N
SHU2IOtEE /LR LY /AR Yy
S201/0t=E I/ YR S I/ YR YU
22/001/}2F /LR e BT eI
1) #0138 2L A S
2) (=] ETN 2t
3) DEINZ/NBE ENTN 24
4) BB U/ R U/ RL S Ot /SR FRA/RR S
= 22 o= son 2 a2 pon
SAorEE ElEN ¢:mfg/%$ B ¢a.‘md§g/%‘$ +
R/ BB S AIOF S) /&=L LH(RIAl &HERIAIO )/ & (Al
- = o ) o 5)
DE01/IEE /LR S e/ Sea
2X/NSE 2UA/LR S I/ YR YU
o= Y L U 2/ ¥ Y YN 28/3 ¥
QE0/IIBE ;g,& = oM BE
[ Y L U 2/ ¥ oYM 28/3 o
Z/=8 Loy =8 S BB
z z= Y L U 2/ ¥ Y SN 2E/3 ¢
BEI/N2E Con es o B8
o= 2 L U 2/ ¥ Y SN 2E/3Y ¥
uo/rzE Loy =8 o BB
. 2 L U 2/ % Y YN 2E/3 ¥
01/t BE Loy =8 o BB
o= 2 L U 2/ ¥ Y YN 28/3Y ¥
FR01/0t2 Tou es oy B8
oopa =2 =3 Fgz oforar oforar ooras oiorar orores
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Ofl L4 Xl (keal ) 744.95 744.95 9.7 867.6 767.2
B4512(g) 57.1 106.3 123.5
S () 18.29 18.29 16.7 35.6 31.6
X (o) 26.3 2.6 14.4
”‘EF’(EE“;W 159.02 | 225.20 130.1 72.4 187.9
El0HD! (ng) 0.29 0.34 0.4 0.3 0.5
cl2Zete (ng) 0.36 0.44 0.5 0.7 0.4
BIEHRIC(mg) 21.45 27.82 13.7 15.1 12.2
28 (ng) 229.86 282.50 276.9 337.5 216.2
2 (ng) 3.03 3.88 3.0 3.2 2.8
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